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5.

10.

11.

12.

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener is
prohibited. If used, it will lead to invalidation.

D8 [DED TOOMD DSTERIE0e ASREDSD. oS! HHODID Baren ISR DIETFGR DBEINS (HE
Bera005DED GBSO PO 0 NODSSD0. &5 RS, DB, HBSLOT VOVDS?, €8 DTGNS0
DOBDODACED. SEBI0 DPYTP SOTP g VOV 27/epE &S HHa0E 0, TESSI. OISV
R0 BT, JESE a0t VDPOBEHORO. SPEDTD? DITED DEBS HOBDODEW.

e.g.: If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
€03 (DI, B30T, (550508 1 & 2sa0e0 (2) 900055, w63 1808 DES500e rHYOSSSHL :

110/ 0|0|®

For each wrong answer 1/3™ of the marks prescribed for the question would be reduced.
58 BB e o8 DrDoND S0, 08" 1/3 So°do), 00 SROUBETON.

Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.

DIATERS DHEPR), V0DErRS DD S5 59 erd a0l DIV SRR TEISDH SL08 JSEED DH(EK0
508D0DEEm0. BS 0,20, 33%{06):_\) SDBTAOSETEE) BOES 500 D(EPR), BB Vo LSHEB0SEO.

Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.

PSTFERS DSBS Beraods Yo Do (Invigilator) GBS, HOBES0M DOGIS. DS
DEFBEER DOBES DSTED DBS0S? S5h0058° 98 HDOED0D2)eSD.

DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated.

83 DEBSD DD DZT 6§ SEMMR), DIEBS0RD $S0EEE€ITOMPR), (B0 AOHEN TR, DODLIOTPR), DA BaTedo
OS50 TR BIFS Lo HSTER D50 HOBD0ESD.

Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.

DSPERD DIBSNSD Qo asaran STEERLED Dnd, B, S 85 O DEPoP DIRERED B0 BV
DTGRP H|EBS0 DOV 000,

Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
PSTPERBZNOD [PEDBS0P MHYOWoED. HAY BEN0DFS S0P DOMNEB0IER0.

Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.

85 D*ED0 SOD DHBJVE, LY B JITED HEBID L.ORBISY (PROT, DBHW) WE,E &N, DUWZEV8
(Invigilator) @d,, 550 (duplicate) S57eed H(BS00 ([Bo& DIBED) B B BE&SyD.
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13.

14.

15.

16.

Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.

o[ Q0R 53@5358605&, nde/erhi Sand), 30BS), ar rd HoEO MY S e Qo8
DOBOSDOR DEY, 0V 9:50550B052)¢E0.

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2% Hours. No candidate

shall be allowed to leave the Hall in the middle of the examination under any circumstances.

20z D0 egmpen Dy Y ey SOD (2% foeren) 0SB, DO oS I8 DoJBOSH
2I0TIEIBD DODAEDD.

If any candidate attempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.

9 959 ©00T® DBoh/s0 B §2@R8 (HADH0DHEONS &R IAITIB0 VAT I,TEED
158 953)ED.

Rough work may be done on the last page of the Question Booklet only. It should not be done
anywhere else.

59 56,5 (7, D0 D58 DS s Sard. I8 IGEe VDT,

07052017



GS/EP/100

1.

In which landmark judgment delivered in
2016, did the Supreme Court issue guidelines
on drought management to the Government of
India ?

(1) Swaraj Abhiyan Vs Union of India
(2) PUCL Vs Union of India
(3) Common Cause Vs Union of India

(4) Mahipal Singh Rana Vs State of UP

Out of the following, which is not a power
granted to Rajya Sabha ?

(1) Authorizing Parliament in the national
interest to make a law on a matter in
the State List

(2) Authorizing State Assemblies in the
national interest to make law on
matters in the Union List

3) To
recommendations

return a Money Bill with

(4) Authorizing Parliament in the national
interest to make a law for creation of an
All India Service

Which of the following could be one of the
reasons for pruning of development targets of
the second five year plan ?

(1) Non-availability of foreign collaborators
to set up heavy industries

(2) Deflationary situation in the economy
(3)  Acute shortage of foreign exchange

(4) Failure of bureaucracy to implement
developmental schemes

(4)

2016 & RDNO D BOTHE AENS’
Qoo §F £6:p DoEre 00D ers

QBOTS SUeIaloS RAPTPOND

203008 ?

(1) DEE PBPS Vs grOY
Qa;beésé»

(2) PUCL Vs 23°8¢& Qe;ﬁoésboo

(3) TP B°& Vs 21°6eh FTAVI NIV

4)  B0rS Doh TE® Vs &6 0BT
O“go

300 IS Ty VP L S s o

A0 ?

(1) o Do S 28 @odo D
A0 PJBredo o r.‘é%s)o
BODTEAS PG00t L WHS o
‘“é?bscéo

2) S0 HArRd0 §o o rdTe
S’ 28 wogo P héyo Do
T 9208 VL WAS o QD0

(3) JFEE g5 Do By
DoDE0

4) 3o HArade Sho ws wdo
63 RO Doy B ko
DODEEAS PG00t L WHS o
«aassao

308 TS’ DO Tocisd DoBDY VEFVE

DDA VTR DAL SEETOS’

2088 900D OE DTN ?

(1) 28 DBFON JVEVNEIS BT
A e §6d

(2) 0908 DN S VB GI[Uee DD

3 ® 3

(3) DBY J0°6E GdH0eS” A Sew

@) DY DETL S TS
adogrort PR)o

f
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4.

Out of the options below, what was the issue
of emphasis in the sixth five year plan put
forward for 1978 — 83 by the Government of
the Janata Party ?

(1) Employment
(2) Industrialization
(3)  Growth with stability

(4) Sectoral allocation

From which five year plan was the system of

setting  “monitorable targets” for key

indicators of development introduced ?
(1) Eighth Plan

(2) Ninth Plan

(3) Tenth Plan

(4) Eleventh Plan

Which organization is entrusted with the
initiative of converting 100% Government —
Citizen transactions to the digital platform ?

(1) National Informatics Centre

(2)  Ministry of Electronics and Information
Technology

(3) NITI Aayog
(4) National Payment Corporation of India

Which of the following is not one of the
subjects on which a sub group of chief
ministers is constituted by NITI Aayog as part
of Cooperative Federalism ?

(1) Centrally sponsored schemes
(2)  Skill development

(3) Swachh Bharat

(4) Digital payments

(5)

1978 - 83 SPerJS BORLD D J0B3Y
DEPVES” D oY wdT G HESBo
QS FTHS D00 ?

(1) &FO SN
©2)  JOFSESE
(8) ROBLE &rdd 20

(4) Gorre Ir8 SérooR)e

D DosHg VEPPE 00D DBQ WY,
dog wrdsw o “Dodioded
OF(RY” DYo0B BB PDFVLTEH
1) DADED QEFVE

(2) QYR PEed

B)  DSD DEPVE

@) DSTotd DEFVE

DSy — JG 08 PRV 100
TS0 G265 :ogaes“é Py BB D D
‘c’OOéDSJ 0\ Aotd ?

1) DS faébo‘ée‘béb Dotrd

2) De)es;‘i)éb SBO03D DAPECS
Fo38E 00JS T

3) DA esBrhH
4) DN D o8 335.15 Qo o3

RIPE ATy & o IS edirh
DBNGDD B0 oGOV & VoDV,
300T°JS” D WoBAND  BHNVYS oGOV
€32 DOVR T BoecSesd ?

(1)  Sog JPABree HDETTLD

@) OB DRyeY (A

(3) gy P68

@) GRS B3osHen



GS/EP/100

8.

10.

The debate between Bhagawati and Sen on
the economic policy of India revolves on

(1) Industry versus Agriculture

Growth first

Investment in Social Infrastructure first

(2) Economic versus

(3) Rural versus Urban

(4) Private Investment Public

Investment

versus

The most important reason for higher absolute

increase in urban population in India

compared to rural population in the decade
from 2001 to 2011 could be due to

(1) migration from rural to urban areas

(2) higher death rate in rural areas due to
lesser access to medical facilities

(3) better methods of birth control in rural
areas

(4) categorization of erstwhile rural areas

as urban areas

As per census 2011, between 2001 and 2011

(1) farmers increased and farm labourers
decreased

(2) farmers increased and farm labourers

increased

(83) farmers decreased and farm labourers
decreased

(4) farmers decreased and farm labourers
increased

(6)

10.

BADB, VS © WG EE B3P Jeedo

D FOHD SOy D oo P FoBEB00 ?

(1) 0OZVer T SHOJ o

(2) €508 $B Jwore? T8 s
BTG DBV EVNOES’
DEEC doore ?

(3) praorer? g drforer ?

4) P Devecr? S8 SDE dewerse?
=4 5] ™ 3]

2001 - 2011 G5F°g0eS” &GS & raded

2 9B ol I8 arerS” BB

R0PFDEBTT JEN I GodeeIS (T

2008 S°6E90 DR €060y ?

(1) TP PoTPY o0& DHT VL
DV

(2) Doy desoFrasren Fed'dco DY
TP Jromrees’ doderee B
‘Dé.)zjbn” €0CiCio

(3)  TPE oz’ renow
QO300gHEISD A ZD%S&)QD
oo

(4)  QOSHE B0 TPAED FPOTLITT
SE DD TP QRN DA
Jrozrenrre HO(E3ocdcto

2011 277> G0 PS°Co 2001 -2011

206 S°00eS”

(1) Beoed DOM, Sgdrad &rden
ég°d>

(2)  Booew, SHFah Lrden DO

(3)  BBoeD ISP, SEIFraD &rden
felelgilob)

(4)  Booew, SPHFah Lrden ST
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11.

12,

13.

As per the statistics of the National Crime
Records Bureau (ADSI 2015), the biggest
reason for suicide of farmers in India is

(1) family and social problems

(2)  bankruptcy or indebtedness

(3) farming related issues

(4) illness, drug abuse and alcohol addiction

Which of the following is not a component of
Pradhan Mantri Krishi
(PMKSY) ?

Sinchayee Yojana

(1) Accelerated Irrigation Benefits

Programme (AIBP)
(2) Har Khet ko Pani (HKKP)
(3)  Per Drop, More Crop

(4) National Water Grid

The MOU to be signed by the Bay of Bengal
Initiative for Multi-Sectoral Technical and
Economic Cooperation (BIMSTEC) (approved
by Union Cabinet in April, 2017) is on
cooperation in

(1) Oil & Petroleum sector

(2) Information Technology sector

(3) Tsunami warning system

(4) Power sector

(7)

11.

12,

13.

DS Osvé3 &15*’53 (ADSI 2015)
ferosee)  PTGo  erGd &S gdoo
BB) TSIV PH°D S°GE0?

(1) €e008), AT ST

2) oIV So 0DyS
EBEHP DA

(3) aﬁ?gbbt’ojo 208065 DH03Ten

(4) es:r&'f’dzgo, Ghy rcsaw,
mcézgaf’éo

go8 TS’ B PEPD o HIHI D
DAJFDGSL  HGEo  (PMKSY) S0
oeddd ?

(1) S0 DI HATPaD
s"dzggéoo (AIBP)

@ 6 B §° D (:rHEED)
3) 06 o b zro
@) 2daH O H&

2)OTTPYPIY B30 D0G]  TVFSo(
033, QY DT ADNDAHAD
(BIMSTEC) (S0g 3D¢5 d65, 2017 &°
IDTO0N0) §ocd Dohseen Bases I
2DY0GHAD, & CorfodS VST
002)0H0VNE

1) SA0®, DO Gorfo
(2)  RATTE avoée‘:as::o%;oa Sotso
(3) 0o SNBSS

(4) 5)66355 Sotfo
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14.

15.

16.

Which of the following is a demand side
intervention in the UDAY (Ujjwal DISCOM
Assurance Yojana) Scheme of the Central
Government ?

(1) Coal swapping
(2)  Availability of cheaper funds
(3)  Usage of energy efficient LED bulbs

(4) Reduction in transmission loss

With regard to funding of the Polavaram
Project, the Centre would provide

(1) 100% of the cost of the
component for the period starting from
01/04/2014 to the extent of the cost as on

irrigation

that date

(2) 100% of the cost of the irrigation
component as incurred

(3) 100% of the cost of the irrigation

component as per value decided by the
Centre

(4) 100% of the cost of the full project for
the period starting from 01/04/2014 to
the extent of the cost as on that date

The coach with glass roof and other facilities
in the
known as

Visakhapatnam — Araku Train is

(1) Glassdome coach
(2) Multidome coach
(3) Lightdome coach

(4) Vistadome coach

(8)

14.

15.

16.

g0 TBS’, Bog LIS UDAY
(aae»seS DISCOM 93:.15"5653 DB8o) 08
BHQD oo, 0 Aol
(DI@Br8Y)) LDoerodd 385 ?

(1) 830(;}) b.)"@b&

(2) 993D Dedoew evocrerenes’
€0cicio

3) és.)bé Z)csozgé e.‘)b(odé)oﬁalg LED
2RON® Foplnt=1o)

@ DS 2DEHT°ES’ :633:)& Shocdcso

Poddo FEE Do Jgoen DIETTy
DacHawes’,  Bogo & Dgoew
DBOEFEIB
(1) 01/04/2014 eS8 DGOV PSS
€9 (3]
S ABIOGS iz SODD
e e3TPGEOMP, 100 F°ho @a?,go
bzgo.“umo
(2) 100 B0 FB§ o BVD PAY

(3) S0 oD Densd
BTGV 100 T2 FE§ Eo
DS 806.)()

(4)  01/04/2014 IS JFOoID
0GR FEF HIONY Jewd
STPEDTT, 100 F°do FELH
sﬁsoﬁo:&n

DPPD0 ~ WELH drdo & Gewe
e €3y, RGBG DI T &) §S
DD B

1) TR EDES

(2 208 E S

3) G E TS

@ dFED ES
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17.

18.

19.

Which institute is the academic mentor for the
Indian Institute of Petroleum and Energy
(ITPE), Visakhapatnam ?

(1) Petroleum Conservation and Research
Agency, Delhi

(2) Indian Institute of Science, Bengaluru

(3) Indian Institute of Petroleum, Dehradun

(4) Indian
Kharagpur

Institute of  Technology,

Which of the following parameters had the
highest
devolution from Centre to States as per the
the 14th

weightage for calculating tax

recommendations of Finance

Commission ?

(1) Population

(2) Area

(3) Income distance

(4) Demographic change

Which year is taken as the basis for resources

for making recommendations by the 14t

Finance Commission ?

(1) 2012-13
(2) 2014-15
(3) 2015-16

(4) No base year

(9)

17.

18.

19.

Do & rédah 1o
S0dosw 23S 202 (IIPE) £ DTy D006
DO DForr  (academic) cﬁ)"gddgééw
2y (0otrb) v A6 ?

(D DEDP0 EGRS @0l 66y

(2)  BOGADD AP 8D 1y,
oA

(3) QOGO @338613"5425 e3D
D" Da0, BETETS

(4) QOGODD ‘afl)fngges €95 asv‘loa%,
DSH Hrd

145 €388 D00 DAy Ps°do Sogo
Q00d omeifos) DAY Rogoesd
SEREINZR &HBrAD 306
DoBrILS” (Evaged’) 6 od
D) D TS SOb ?

1) 237
@2 Ao
-2 €9
(3) e3TPOD ézg@zg‘“oo (&ors0o
4) a23rereS’ BSCON
S0 f’oal’dobw BoDEDE 14D €508

PDoo D RODBNTAY  DOGR (LD
eGS0t 5.05560:?.)0& ?

(1) 2012-13
(2) 2014-15
(3) 2015-16

4) @ egrd RoDB B T
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20. Which of the following is one of the factors not | 9¢,
considered by the 14" Finance Commission in
vertical devolution of resources ?
(1)  Spirit of the Constitutional provisions
(2) Concerns of States and Centre on fiscal
space
(3) Differential levels in aspirations and
expectations of the population of various
States
(4) Need for clarity on functional and
expenditure responsibilities of States
and Centre in the interest of sound
federal fiscal relations
21.
21. Compositional shift from grants to tax
devolution from Centre to State causes
(1) additional fiscal burden on the Centre
(2) increase in share of unconditional
transfers to States
(3) demand from States to increase tax
rates
(4) lack of fiscal space to carry out specific
purpose transfer to States
22. The relationship in India  between |22

redistributive resource transfers from the
Centre to States
outcomes like per capita consumption, growth

and various economic

in GDP, tax revenue effort is
(1) not determinable

(2) positive

(3) neutral

(4) negative

808 TS° D oY 14D €388 Qoo

DOGL  wor  Dogwe T8 oS’

03e30cdT 0

(1) Trerfor oz ;’w‘bg‘i)

2) €398 dweverty (§3 £ 068) »
Q a—
Sog, TalPe 9DF IO

3) DG Tar0 HRO DT,

(D)

DR S DD SIS ULY

@) eBadodd  daryy 8%
RopogrY Byal, DO ey
200050 DO B oS’
Sog, TRAVL WE), FE P
QNS CODE) 8DFEBR

So@aw Aol TFOH  Dogod
DNV FTRGE  AEFD  DOBGD
(compositional shift) «d&&

(1) Soo D BID eags 2do
DBV

(2) o*ngwso 52630 2600 oeew
DB

(3) DR SR Dowrwd ToguRVOC
G0l S0’ =

4) TP Jod PArad 20d
BV 9DDEROD €508
DRVLVETED &0 '

66 & Sogo O  TEFY &Gy
DR D02E8 HIDL B (redistributive
resource transfer) 0003 9385 Dere)
(3020 DIArHo, Yre) BANPIIS®
DB, DI T° wTrao Eo &
HoBdD) :)Jc,f)zg (50 Lot ?

(1) Dg‘boéef:n)

(2 DTS Lo (w0Ere)

3 e‘.‘ééaé)é.)o

@ 5T Lo (DS')
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23.

24.

25.

26.

Muga silk is a product of the silkworm
endemic to which State of India ?

(1) Karnataka
(2) Tamil Nadu
(3) Assam

(4) Manipur

As per the rationalization of Centrally

Sponsored Schemes by the Government of
India, “core of the core” schemes are

(1) Social protection and Social inclusion
schemes

(2) Schemes which are part of National
Agenda

(3) Infrastructure schemes

(4) Digital India schemes

What is the
sub-federalism in the context of achieving

meaning of competitive

targets on social and developmental goals ?
(1) States competing against each other
(2) Centre competing with States

(3) States competing with Local Bodies

(4) Local Bodies
Bodies

competing with Local

Which of the following programmes of the

Government of India does mnot provide

opportunity for urban rejuvenation ?
(1) AMRUT

(2) Rurban Mission

(3) HRIDAY

(4) Swachh Bharat Mission

(11)

23.

24.

25.

26.

e

20T D) 6 S Do
DEVRDEND BB\ ?

D R

L
&

(1) Sgé.)s

(2) SBAP T

(3) 2931"350

4) Hed3Rrd

;03 P3| FATRE DTV

33°éoeo<§§dea STeH “é.»ars@bwa)zg”
DEBEON DD

(1) PATRE 6L 00 AT
{o&’bé@é DTN

(2)  2PAOD 9ForeS’ DTN
(3)  AFOE HDEOIPAITL DTN
(4) A28 QoGO3® HESCeD

FOrRE 0D DB VF
J3HeS DYTHLE  SDODPR]  BPDD
2903 DA ?

(1) o*nng g A8 BB DY
D0

(2) SBogo O‘%‘US D Hetero

(3) ovgow gv:)s ‘é)o“gog D% Do

1) A& Hohew FJE HodwsS O
@ @) @ @)

Do
Socs  VEYR) D rES QIS
SO0 SK6 Q)éd)g%émbé
esésw’i)‘l QO ?
(1) AMRUT
(2) onS AN
(3) HRIDAY

(4) :O‘St:)(b PES N
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217.

28.

29.

30.

A recent radical idea to overcome the problem
of poor targeting and misallocation of social
welfare schemes is that of

(1) Universal Basic Income
(2)  Direct Beneficiary Transfer
(3) Direct allocation of funds to Local Bodies

(4)  Privatization of all subsidy schemes

What is the all India participation rate of
in MNREGA (Mahatma Gandhi
National Rural Employment
Agency) Scheme in 2016 — 17 ?

Women
Guarantee

(1) 36%
(2) 46%
(3) 56%
(4) 66%

The Inter State Council was established on
the recommendations of

(1) Venkatachaliah Commission
(2) Sarkaria Commission
(3) M.M. Punchhi Commission

(4) Rajamannar Commission

“Cooperative Federalism” in Centre — State
relations is recommended for the first time by

(1) Sarkaria Commission
(2) Rajamannar Commisson
(3) Venkatachaliah Commission

(4) M.M. Punchhi Commission

(12)

27.

28.

29.

30.

FATRE  DVoED DGO 90
IS SeraoiHew, SEL T Hodd
RIVVFOR  BAOSTIS QBdO
58100 Do) & e3e5°50 DO ?

() OGBS TGO STPODEW

(2 0D THVH PBE O

(3) P DoRPUH  dbre Do
8eP000Y)

@) ToryErs dVPabE DO G
QoVDBESE

2016-17 & Q0T ™od &AL
T &P D DGEE0S?
(MNREGA) 2768 dogdnsS® &udree
a,rdb"sbazg Ben o doch ?

(1) 36%
(2) 46%
(3) 56%
(4) 66%

DB DIFEN® B odd TR NS
Do‘ben BT ? -

(1) Doserdewatiy END
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31. Out of the following, which is a|gq,
recommendation of the  M.M. Punchhi
Commission on the institution of Governor ?
(1) Provision for impeachment of the
Governor may be introduced by the
State Legislature

(2) The system of Governor may be
abolished

(3) Consent of Chief Minister of a State
shall be necessary before appointing
Governor of the State

(4) Governors should be periodically rotated
between States

32.
32. Which of the following is a principle followed

by the farmers who are participants to the

APFAMGS (Andhra Pradesh Farmer

Managed Groundwater Systems) Project ?

(1) Sanctions are levied on violators

(2) Rules are set by users and not by
outsiders

(3)  Formal dispute resolution is available

(4) Fixed rules which are not amenable to
change are made

33.
33. What was the immediate cause for loss of

foreign reserves triggering the financial crisis
in 19917

(1) Political instability and uncertainty
(2) Increase in non oil imports

(3) Sharp rise in value of imports of oil &
petroleum products

(4) Stoppage of rupee trade by the Soviet
Bloc
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34. Which move helped to tide over the balance of | g4,
payment crisis in 1991 ?
(1) Sale of gold in international markets
(2) Emergency loan from IMF by pledging
gold reserves
(3) Emergency loan from World Bank
(4) Quick  realization of  expatriate
payments
35. Which of the following sectors was not much
affected by the reforms after 1991 ?
(1)  Civil Aviation 35.
(2) Banking
(3) Telecommunications
(4) Railways
36. What could be the main reason for jobless 36

growth in the reform period after 1991 ?

(1) Reforms were mainly confined to the

formal sector

(2) Majority of the labour force was already
employed and hence there was no need

for jobs

(3) The

reforms and new industries could not be

informal sector opposed the

opened

(4) People were not willing to do menial

jobs

1991 oS AODL  HAF LB

3o TS’ BTJD  Doferdy

29 OMHDV0WOVLD EDATHDCRD 2el ?

() e90sgedodd &55°0) 8e° evorrdo
Q) So

(2) 20 Z)e)se)éo @mmg
OSBTAOD (] D WoC BN
@eé&b«i)d 220€90

(3) 990N 83°5°§ Aoodd OB(DVG 220690

(4) DTN PEBO%VL G DLy
Boznen SBrT Ty
RVE D0

S0H To¢3e5° 1991 SHOT°eh R0R), 6890 DY
L) O™ PerSo 5 Sorfo A& ?

(1) DS DAFIH3TS0

(2) &7"50§05

(3) 6®sw5S§:q53

(4) S

1991 SOTS  RoR) CeeR sPA0S
GO Card )08 PO 60 ?

(1) R)o{obdsaoo ang_osb.pm 2o0eded
S0P H0rB DODBL0II°I00

2)  HABNAEDADTOS’ L Feho
&85 socicio By S
&8 {0 0G0 SED%a00d

(8) @900 Gorio 7002’0&(589&)&.)
éé@ééodﬁdo 659 g & OBV
POV DeH S0

(@) DR VG Fow el§ren
BoerD GLETE



GS/EP/100 (15)
37. Under the new Central GST Bill, 2017, the|387.
mechanism to monitor and ensure that any
reduction in tax rate should result in a
commensurate reduction in the price of goods

or services is known as
(1) Anti-evasion measure
(2)  Price reduction measure
(3)  Anti-profiteering measure
(4)  Price neutralization measure
38.
38. Under the scheme of new GST Bills, 2017,
subject to a ceiling fixed under GST Act, the
changes in GST rates can normally be effected
by
(1) Government through notification
(2) Government with prior approval of
President
(3) Parliament through an ordinary Bill
(4) Parliament through  Constitutional
Amendment
39.
39. Under the GST (Compensation to States) Bill,

2017,
Compensation Fund at the end of five years

the unutilized money in the GST

would be

(1) Distributed amongst States as per the
formula prescribed by the Finance

Commission for devolution of taxes

(2) Shared equally between the Centre and
States with apportionment amongst the
States on the basis of SGST collection in
the last year of transition

(3)  Fully retained by the Centre

(4) Shared equally between the Centre and
States with apportionment amongst the
States on the basis of the
prescribed by the Finance Commission

formula

for devolution of taxes
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40.

41.

42.

43.

Out of the options below, the most important
disadvantage of a multiple tax rate structure
is

(1) Difficulty in remembering rates for
different items

(2) Cross subsidization amongst the taxes
on different items

(3)  Misclassification of goods and services

(4) Difficulty in arriving at a tax rate for an
item

Out of the options below, who was awarded
the Pulitzer Prize in 2017 for Explanatory

Journalism ?

(1) The New York Times

(2) The Washington Post

(3) WikiLeaks

(4) International Consortium of

Investigative Journalists (ICIJ)

Who is the winner of the recently held
Superseries Singapore Open Badminton title
in the Men’s Singles category ?

(1) Kidambi Srikant
(2) B. Sai Praneeth
(3)  Parupalli Kashyap
(4) B. Sumeeth Reddy

As stated in the Economic Survey 2016 — 17,
what is the potential consequence experienced
by a majority of women in a household not
having toilets ?

(1)  Reducing food intake
(2) Reducing water intake
(3) Travelling long distance for toilet facility

(4) Sexual assault

(16)
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44. In the case of PDS schemes, which would be | 44,
the probable relation between coverage and

leakage ?
(1) The lower the coverage, the higher the
leakage
(2) The lower the coverage, the lower the
leakage
(3) The higher the coverage, the higher the
leakage
(4) There is no relation between coverage
and leakage
45.
45. Which one of the following is the most
effective financial inclusion programme ?
(1) Demonetization
(2) Aaadhar
(3) Pradhan Mantri Fasal Bima Yojana
(4) Jan Dhan Yojana 46.
46. A large gap in the collection of property tax

vis-a-vis the potential tax of Bengaluru city as
shown in the Economic Survey for 2016 — 17 is
estimated from

(1) Data gathered in household survey
(2) Satellite imagery
(3) Fall in the number of existing taxpayers

(4) Increase in the number of building

permissions
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417.

48.

49.

As per the Manual for Drought Management,
2016 published by the Union Ministry of
Agriculture, an area which is classified as
“chronically drought prone” receives mean
annual rainfall which is less than

(1) 450 mm

(2) 500 mm

(3) 750 mm

(4) 900 mm

Which of the following is not a parameter
used by the The Crop Weather Watch Group
constituted by Government of India to monitor
the drought situation in the country ?

(1) Meteorological parameters

(2) Hydrological parameters

(3)  Agricultural parameters

(4)  Geological parameters

What is the cause of earthquakes in the region
from the Himalayas to the Arakan Yoma ?

(1) Collision of Pacific Plate and Indian
Plate

(2) Collision of Indian Plate and Tibetan
Plate

(3) Collision of Eurasian Plate and Indian
Plate

(4) Construction of dams on the Ganga and
Brahmaputra

(18)
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48.

49.
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50.

51.

52.

Out of the events given below, which is the
most important cause of Tsunami ?

(1) Fault movement on the sea floor
(2) Underwater landslide
(3) Underwater volcanic explosions

(4) Underwater mining explosions

Match the
harvesting systems with the region in which

following traditional water

they are followed :
A. Zing I
. Zabo II.

Tamil Nadu
B Rajasthan
C. Johads I11.
D. Phad Iv.
E. Yeri V.

Ladakh
Maharashtra

Nagaland

A B C D E
(1 I II Im 1v v
@2 Vv 1 Iv 11 II1
3 I I1v v II I
4 I v IT v I

Out of the items given below, what is
Korambu ?

(1) Temporary wall of brushwood, grass and
mud laid across channels to raise the
level of water in use in Kerala

(2) A runoff farming and groundwater
recharging system of Rajasthan

(3) A traditional step well of Tamil Nadu

(4) A system of channels built to intercept
and collect rainwater in Nagaland

(19)
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51.
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53. Which of the following is a traditional method | 53,

of conservation of tree cover across

communities in India ?

(1) Van Mahostav

(2) Sacred groves

(3)  Growing plantations

(4) Adopt a tree per home

54.

54. In ecosystem terminology, who are the major

producers in a terrestrial ecosystem ?

(1)  Human beings

(2) Phytoplankton

(3)  Herbaceous and woody plants

(4)  All the given options
55. Out of the below mentioned persons, who was | 55.

appointed as Messenger of Peace by the UNO

in April, 2017 ?

(1)  Scott Kelly

(2) Jane Goodall

(3) Leonardo DiCaprio

(4) Malala Yousafzai

56.

56. For the purpose of reducing wind forces on the

roof during a cyclone, the best roof

architecture of a building, out of the options

below is

(1) Gable ended roof

(2) Hip roof

(3) Pyramidal roof

(4) Flat roof 57.
57. What is the objective of the Appiko

movement ?

(1) To construct check dams to conserve
water

(2)  To construct steel bridges in rural areas
(3) To fight against corporate farming
(4) To protect forests
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58.

59.

60.

61.

62.

For which area was H.R.H. Princess Maha
Chakri Sirindhorn awarded the
Bhushan ?

(1) Dance
(2) Literature & Education

Padma

(83) Social Service

(4) International Relations

Ganjam Venkatasubbaiah, who was awarded
the Padma Shri is known for his work as a/an

(1) Lexicographer
(2)  Social reformer
(3) Musician

(4) Civil servant

How many persons were awarded the Padma
Shri in 2017 in the Sports category ?

(1 6
2 7
3 8
4 9

How many national missions have been
started as part of the National Action Plan on
Climate Change ?

v 7
(2) 8
3 9
(4) 10

What is the capacity of solar power sought to
be installed in India by 2022 under the
Jawaharlal Nehru National Solar Mission ?

(1) 10 Gigawatt
(2) 50 Gigawatt
(3) 100 Gigawatt
(4) 1000 Gigawatt

(21)
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63. Which number does one have to call in Andhra | gg.
Pradesh to utilize the services of Talli Bidda
Express ?
(1) 108
(2) 106
(3) 104
(4) 102
64. What is the objective of the “Badikosta”|64.
scheme started by the Government of Andhra
Pradesh ?
(1) To minimize dropout rate of girl
students from high school
(2) To promote bicycle as a mode of
environmentally-friendly transport for
students
(3) To provide bicycles at low cost to girl
students
(4) To provide incentive to teachers for
getting girl students enrolled in school
65.
65. As per the expectations of ISRO, which rocket
would be a “game changer” in the operations
of ISRO ?
(1) GSLV-Mk-II - D2
(2)  GSLV-Mk-IIT - D1
(3) GSLV-Mk-IV-D1
(4) GSLV-MEk-IIT - D2
. . . . . 66.
66. National Science Day is celebrated in India on

2gth February to mark the
(1) Discovery of life in plants by J.C. Bose
(2) Launch of the Aryabhatta satellite

(3) Commissioning for first nuclear reactor
“Apsara”

(4) Discovery of “Raman Effect” by C.V.
Raman
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67.

68.

69.

70.

Out of the options below, which types of
activities are taken up under the Neeru
Chettu programme by Government of AP ?

(1) Tree plantation in government buildings

(2) Desiltation of minor irrigation tanks and
channels

(3) Development of parks and community
groves

(4) Vana Mahotsav

After reorganization of Andhra Pradesh,
which
established to act as a catalyst to facilitate

of the following organizations is

economic growth and investment in Andhra
Pradesh ?

(1) AP Economic Development Board
(2) AP Invest
(3) AP First

(4) AP Infrastructure Corporation

What is the target ratio set by SDG for
reduction in poverty level by 2030 ?

(1) Poverty ratio to be below 10%
(2)  Poverty ratio to be below 5%
(3)  Poverty ratio to be below 12%

(4) There should be no poverty in any form

Who discovered the TB Bacillus ?
(1) Edward Jenner

(2)  Robert Koch

(3) Louise Pasteur

(4) Ronald Ross

(23)
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71. Match the following : 71.

A Malaria P. Bone marrow

B. Filaria Q. Brain

C.  Encephalitis R. Blood cells

D. Leukaemia S. Lymph nodes

(1) AR, BS,CQ,DP

(2) AS,BP,CR,DQ

(3) AQ, BS, CR, DP

(4) AQ, BR, CS, DP

72.

72.

73.

74.

Which of the following crops is generally
cultivated by transplanting seedlings ?

(1) Maize

(2) Carrot
(3)  Onion

(4) Soyabean

Which of the following is associated with
Diabetes Mellitus ?

(1) High sugar level and high insulin level
in blood

(2) High sugar level and low insulin level in
blood

(3) Low sugar level and high insulin level in
blood

(4) Low sugar level and low insulin ievel in
blood

A diode is used for

(1) Changing positive charge to negative
(2)  Electrolysis

(3) Converting AC into DC

(4)  Generating electricity

73.

74.

20ATPA 2¢h BAVOEG :

A BB P WS 0

B. PS80 Q. VS

C. DoVVTAD R. 6 Sewen

D. e08asr S, Dod Focoew (S&y)

(1) AR, BS, CQ,DP
(2) AS,BP,CR,DQ
(3) AQ,BS, CR, DP
(4) AQ, BR, CS, DP

308 Do’ DB Jprdeo e
TeeCio (N Dotozedd ?

(1) baosbag" ‘6‘)’
2) 3“5635

3) &8

@) oD

20OTIS" O AoIrBLd  2wdLD

(060D5T0) O H020HOVIE ?

(1) 6ZosS" QY 380, wAE QYOS
eg*’oao

(2)  GZoS® O $38) 6, BLD RO
eg*’oao

(3)  GZoS® B D BT Y, WOS RWYDD
eg*’oao

(4) GZosS® D BFG, SD
QRO g*n)o

QA& 0 BS &DBTAI S

1) S8 3.)65355 Q0 200ET) Sorr
wcﬁbw.‘bé

(2)  DAIOCFDED

(3) AC 3653755 & DC Z)c:bée‘."—s ™
Sr6yco R0

(4) DS D ERo
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75.

76.

7.

78.

Which of the following is used as a trigger in a
nuclear bomb ?

(1) Krytron
(2) MOSFET
(3)  Solid State Relay

(4) Solenoid

Which of the following enzyme found in tears
destroys bacteria ?

(1) Amylase
(2)  Urease
(3) Lysosome

(4)  Glycerine

In eye donation, which part of the eye of the
donor is utilized ?

(1) Iris

(2) Lens
(3) Retina
(4) Cornea

Washing soap produces a scum with hard
water and not much foam because the hard
water contains

(1) dissolved inorganic salts
(2) chalk and sulphur
(3) organic matter

(4) suspended particles

(25)

75.

76.

71.

78.

3
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3) IVED

@) B6D

g TR md oS D ey

&EDBTOIED ?

1) S0 FD
(2) 88J
(3) BB
(4) ?6&0:15"
OO vy 00 2008 @R

DBYER0 TP DG D T
&3 s°6e0 560 2o & Fob DTPGHW
o)S)Z)_bW &0od

1) DAS’g6AD DI (@rgedE)
DT =

(2) ‘c’oog B3 “&035

(3) DoHoD DEgo

@ Dyaé (IBS” Dercdsody )
geren



GS/EP/100

Read the following sentences and answer the
questions (79 - 82) below :

A team of five members is to be formed from five
boys Pradip, Quddus, Rajesh, Samir and Tony and
four girls Anusha, Bhagya, Chinmayi and Durga.
The conditions are as follows : Pradip and Samir
have to be together. Quddus cannot remain with
Bhagya or Chinmayi. Rajesh and Anusha have to be
together. Tony cannot remain with Anusha or

Durga.

Answer the following questions :

79. If Quddus is one of the members, who are the
other members of the team ?

(1
(2)
(3)

(4)

Anusha, Pradip, Rajesh, Samir
Anusha, Durga, Rajesh, Samir
Bhagya, Chinmayi, Pradip, Tony
Anusha, Durga, Rajesh, Tony

80. If three members of the team are girls, then
the team would be
(1) Anusha, Bhagya,

Tony

Chinmayi, Rajesh,

(2) Anusha,
Samir
Bhagya,
Samir
Anusha,
Rajesh

Chinmayi, Durga, Rajesh,

(3) Chinmayi, Durga, Pradip,

(4) Bhagya, Chinmayi, Durga,

81. If Anusha is one member of the team and all
others are boys, then the four boys would be

@)
(2)
3

(4)

Quddus, Rajesh, Samir, Tony
Pradip, Quddus, Rajesh, Samir
Pradip, Rajesh, Samir, Tony
Pradip, Quddus, Samir, Tony

82, If two members of the team are girls, then

which of the following teams is not possible ?
(1)
(2)

Bhagya, Chinmayi, Pradip, Samir, Tony

Anusha, Rajesh,
Samir

Chinmayi, Pradip,

3
(4)

Anusha, Bhagya, Pradip, Rajesh, Samir
Chinmayi, Durga, Pradip, Rajesh, Samir

(26)

(08 0555500285 D, a3 S0LS €5 (HF©EO
(79 - 82) a3aneen HoIoE :

VOD, aGrD, ToE% , VWG oot ¢
9 LNV, IR, I, Dé&o.u, (able!
9 9T, 0OV QoG DEROAOGD RFOfD &Y
28 280 SHOIrAR0ITd.  JeyoPdden &
DB &) Q. OO, D6 €0 &ored.
PO ey, D)0 & v eodeFed.
>SS, 03 €9 &ored. ¢5°D wirnE 2D
OGS 2 ot T

S0® 0B VLD VAEDHo TAE

79. QOGP 2GS 28 DPgEd DNDD
D‘%o DI ?
1) 0IFD, RAED, T°E%, D6
(@) R, g, TES, P06
3)  erdy, :‘Dééo.u DAD, &°D
(4) XA, (g, TES, &'
80. 22:%3)3956 J0MH 0BT 0D Gotd e
280 QO €:08008 ?
(1) 0, &rif, Do, T°E3, ¢S°D
(2) AT, Do, B8, T°EF, DS
(3)  arrig, DHYOW, g, VAD, LA
4)  OJITD, 2, &ééow, &8, o°E3
81. aa%ane'ie OITNS  JeD QHDDTFyor
eaarawej OB €8 Derddd erendd
B ?
(1) GrS, T°Es, PG, 5°D
@) DOD, GrD, 8T, D6
3)  DOD, T, PG, 5°D
@ DOD, POGrD, DG, &'
82. 260" AGW 17000 Gotd )N

206 ae»é.geys AT 3"6_.550 so¢d) ?

1) 3.3"(85, D00, PAD, VG, &'
(2)  Rrd, D0, PAD, T°E3, P06
(3)  IFR, My, POD, ToES, HA6
@) DHoW, Y, YAD, ToES, D6
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83.

84.

85.

Which of the following items is recently
registered as a geographical indication from
Andhra Pradesh ?

(1) Bangenapalli Mango
(2) Bandaru Laddu
(83) Tapeswaram Kaja

(4) Udayagiri Wooden Cutlery

Out of the following, which parameter is given
higher ranking weight by the National
Institutional Ranking Framework of MHRD
for awarding overall rank to educational
institutions ?

(1) Graduation outcomes
(2)  Perception
(3)  Research and professional practice

(4)  Outreach and inclusivity

The recent order of the Union Home Ministry
on sharing of assets of APSCHE specifies
that

(1) Assets and liabilities are to shared in

52 : 48 ratio

(2) Assets belong to the State of their
location but cash deposits/balances to be

shared in 52 : 48 ratio

(3) Assets belong to the State of their
location but cash deposits/balances to be

shared in equal ratio

(4) All assets

Telangana

belong to the State of

(27)

83.

84.

85.

& 808 TOS° es0g BT ol adde

SHIE 2rdge DYES” HArG DD

DRV A6 ?

(1) e00800 drdod

(2) 22066 Vg
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L0308
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(1) e Qdodw eaog)be» 52:48
thbe‘.’ées6 0263 Ba3Td
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Dy 8eS° D063 Boird
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86.

87.

88.

89.

90.

Who is the other Indian apart from Prime
Minister Narendra Modi to find a place in the
TIME 2017 list of 100 most influential people
in the world ?

(1) Vijay Shekhar Sharma
(2) Mukesh Ambani
(3) Sania Mirza

(4) Sunita Narain

As per World Happiness Report, 2017 of UNO,
what is the rank of India in the Global
Happiness Rankings ?

(1) 120

(2) 121

3 122

4) 123

What is the name of the freight train that
made its first journey from China to London in
January, 2017 ?

(1) The Silk Train
(2) The Western

(3) The China Wind
(4) The East Wind

Which astronaut holds the record for most
spacewalks by a woman in space ?

(1) Peggy Whitson

(2)  Sunita Williams

(3) Svetlana Savitskaya
(4) Sally Ride

The Golden Jubilee year of which important
rice variety, that saved many regions from
famine, was celebrated in November, 2016 ?

(1) IR2
(2) IR8
(3) 1IR18
(4) IR81

(28)

86.

87.

88.

89.

90.

2017 &5° HDOEADD B HDosBVS D
100 2008  eefoth PAPOINFD DFER)
DT, a6 B0 ol &) RGOS’
Qo 0@ dBog IR B, VB B[S
A ?

1) Do 3d 36),

(2)  Q0BH oerd

3) Dot Qge

4) DT TT0EH

D[ ToRY DDA WY, PO DoFNo
DB, 2017 PSGo DI VTN
DYES® 276 0B o ?

(1) 120
(2 121
(3) 122
(4) 123

D Aod wotkd & 2350, 2017 &°
DO HOITPEIAD  WAD DB Gaeee
Ben g, D DDEY?

(1) ) Bew

(2) B’J'?‘)@
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290650 s:r‘l Déazjas 90B0E) NS
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DO DI iosgébéb.nw ddoedb,
2016 &° 26ZDETY & ?

(1) e 2
(2) =esb 8
(3) esb 18
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91.

92.

93.

94.

Which of the following was included in 2016
by UNESCO in the list of Intangible Cultural
Heritage of Humanity ?

(1) Sankirtana
(2) Tradition of Vedic Chanting
(3) Ramlila

(4) Yoga

The book “The Inner Fire” written by Justice
Rohinton F. Nariman is on

(1) Religious wars
(2) Islam
(3) Zoroastrianism

(4) Radical humanism

Which film personality was awarded the
“Centenary Award for Indian Film Personality
of the Year” at the 47%" IFFI in 2016 ?

(1) S.P. Balasubramaniam
(2) A.R.Rahman
(3) Ilayaraja

(4) Yash Chopra

What is the name of the medium altitude long
endurance UAV flown by DRDO in November,
2016 ?

(1) NETRA 201
(2) TAPAS 201
(3) NISHANT 201
(4) AURA 201

(29)

91.

92,

93.

94.

odoob‘bsb DEEToB ATOTY & Bodd
OFNG oy TERB]  RoDGY
DQEVS” 2016 & BONIAIO, & §obd
TS O ?

(1) %SG

(2) DET\GE DoHTTEADHL

(3) TaL Oer

(4) odoere
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G A8 PO @D RED) RO
Qe ?

(1) DBDCS oingam»
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2) o.e86. 6:36&,15
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4) o zS"gv
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(1)  Dge 201

(2) &S 201

(3)  QBro& 201

(4) Toe 201
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95.

96.

97.

98.

Which doctor got the Dhanvantari Award in
March, 2017 ?

(1) Dr. S. Bhattacharya
(2) Dr. S.K. Sarin
(3) Dr. D. Nageshwar Reddy

(4) Dr. B.K. Goyal

Which of the following sports personalities
was recently appointed to the Board of Sports
Authority of India ?

(1)  Pullela Gopichand
(2) Karnam Malleswari
(3) Mukesh Kumar

(4) Gutta Jwala

Which Harvard dropout got an honorary
degree from Harvard University in March,
2017 ?

(1) Bill Gates
(2) Mark Zuckerberg
(3) Larry Ellison

(4) James Murdoch

As per the 2016 report on Global Trafficking
in Persons published by UN Office on Drugs &
Crime, Victims and Traffickers often have

(1) The same ethnic background
(2) Different ethnic backgrounds
(3) Same or different background

(4) Backgrounds which cannot be identified

(30)

95.

96.

97.

98.
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99.

100.

101.

Which Indian shooter won a Gold medal at the
ISSF World Cup Rifle/Pistol/Shotgun held in
New Delhi ?

(1)  Amanpreet Singh

(2) Ankur Mittal

(3) Jitu Rai

(4) Pooja Ghatkar

As per the 4™ National Family Health Survey,
how many females are there in the State of
Andhra Pradesh per 1000 males ?

(1) 1050

(2) 1020

(3) 980

(4) 970

For which of the following reasons was the
FCRA license of Public Health Federation of
India recently cancelled by the Government of
India ?

(1)

Misutilization of Government grants

(2)

Money laundering activities

(3) Taking bribes from hospitals

4)

Lobbying with parliamentarians

(31)
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102.

103.

104.

105.

What is the percentage of votes polled in the
recent By-elections to the Srinagar Lok Sabha
Constituency ?

(1)  650%
(2)
3

4)

6-95%
7-05%
7-14%

Who was for the
announcing the name of the Best Film at the

responsible gaffe in

2017 Oscar Awards Ceremony ?
(1)
(2)
(3)
(4)

The presenters
The accountancy firm
The Motion Film Academy

The law firm

“Every Indian is special. Every Indian is a
VIP.” On which occasion did Prime Minister
Narendra Modi tweeted these words ?

(1)
(2)
3
(4)

On International Yoga day
On launching the BHIM App
During the UP election campaign

On abolition of red beacons on vehicles
of dignitaries

Which of the following politicians completed
50 years as Legislator in March, 2017 ?

(1)
(2)
3
(4)

K.M. Mani
Rishang Keishing
H.A. Halim

Ganapatrao Deshmukh

(32)

102.

103.
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105.
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106. Upon reorganization of the State, Andhra|q¢g.
Pradesh had a higher public debt than

Telangana because
(1) Andhra Pradesh is Dbigger than
Telangana in area
(2) Andhra Pradesh had more assets and
hence more debt
(3) Population ratio was the sole factor for
distribution of debt
(4)  Union Government decided that Andhra
Pradesh has to bear more debt
107. What is the amount of special assistance|107.
provided by the Central Government to
Andhra Pradesh in 2016 — 17 ?
(1) < 4,058:04 Cr
(2) < 1,97650 Cr
(3) < 1,176'50 Cr
(4) < 2,081-54 Cr
. . |108.
108. As per Andhra Pradesh retail trade policy
2015 — 20, how many additional employment
opportunities would be created in the retail
sector by 2020 ?
(1) 5000
(2) 10000
(3) 15000
(4) 20000
109.
109. What was the percentage of debt outstanding

to GSDP of Andhra Pradesh in 2014 — 15 after

reorganization of the State of Andhra

Pradesh ?

(1) 2819
(2) 2891
(3) 29-36
(4) 2963

Q)édssé‘f’gédea BEOTY, BOOTTPEP S0k
ol VBT D DD DHE )y
€06erAS SPE ?
(1) 08 D33,
DRGNS DGO
ol PBT DG INOD  Ww
€ O g8 2Dy S as%é
LN RIIALINE SHVAL  BICYP
DAY drgd  FADOET
DR DB 20O

€808 VAT AN)D W)y FOoTO
Sog DAVSBN AYADIW B0d

SOTPERP &oé3

(2)

3

(4)

2016 -17 &° Sog VSO, s0g VAT
ovg’i)é dod  dwgaw VB[S
R33030:500” 08 odoDod ?

(1) & 4,05804 S0

2 &> 1,976:50 §é0

(3) & 1,176:50 &0

(4) 6 2,081-54 €0

B80g VAT VY6 IEEY  JPdHW,
2015-20 QPSOAD, WG HEED
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(1) 2819

(2 2891

(3) 29-36

(4) 2963
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110. Determine the mean, median and modal

111.

112.

values for the set : 3, 8, 10, 7, 5, 14, 2, 9, 8.
1) 1733,5,8
(2) 1735,8,8
(3) 1735,7,8

(4) 1733,8,8

The following table of grouped data represents
the weight (in kgs) of 100 articles :

Class Frequency
Weight (in kgs) (Number)
3-5 8
5-17 25
7-9 45
9-11 18
11-13 4

Calculate the mean weight for an article.
(1) T7T6kg
(2) TT7kg
(3) T78kg
4) 79kg

If COFFEE is 3, 15, 6, 6, 5, 5, what is MILK ?
(1) 13,9,12,11
(2) 13,10,12,11
(3) 14,10,13,12

4) 14,9,12,11

(34)

110.

111.

112.

fabseocié R0gr) DATPODDD  AINE);
e, 6506,65 (39500, EIPTVFE0 0333525
DLVSVAD (OoLI0C:. Qo
AVTPO3&AW : 3,8, 10,7, 5,14, 2,9, 8.

(1)
(2)
(3)
4)

7-33,5,8
7-35, 8, 8
7-35,7,8
7-33,8, 8

g0 RVEAD DYE & &rO\dD

SEPoTed 100 JPDHY )  (8e°
Towees’) @D SROT™) o

(82 o) | (s2080 Do)
3-5 8
5-17 25
7-9 45
9-11 18
11-13 4

DS 00ID0D, 28 DY Y,
R0 28D o S8 ocsodt ?

(1)
(2)
3
(4)

7-6 kg
7-7 kg

7-8 kg

7-9 kg

COFFEE 8208 3, 15, 6, 6, 5, 5 ©@000& MILK
dodh ?

(1)
(2)
(3)
(4)

13,9, 12, 11
13, 10, 12, 11
14, 10, 13, 12
14,9, 12, 11
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113. When the following shape is folded into a cube,

what is the expected cube ?

X

D

Q0

(D

(2)

3

4)

D @ © ©

(35)

&00od ?

X

a—

113. & 0B RVGD BHAD 28 DODIW
TP 0GIIED,

28 DADD e

D

(D

(2)

6))

(4)

B O O ©
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114. Find the missing number in the diagram given

115.

116.

(36)

below.
9 8 7 8
4 40
4 4 2 8
3 3
?
8 9
1) 4
2 3
3 2
4 1

Find the next number
1,2,6,12,36,72, ?

(1) 108
(2) 144
(3) 156
4) 216

in the sequence

If ‘Sedative’ is to ‘Pain’, ‘Solace’ is to ?

(1) Kill
(2)  Grief
(3) Hurt

(4) Irritation

114. 3008 RDRIGD DOBES’ PF°) G IS

115. RHE@AD  33S° LTS
(BotsoC. 363 : 1,2,6,12,36,72,?

116.

€0GDVND {008_05@ (BotSol ?

9 8
4 40
4 4
3
8
(1 4
2 3
3 2
4) 1

(1) 108
(2) 144
(3) 156
(4) 216

(1) Kill
(2)  Grief
(3) Hurt

(4) Irritation

‘Sedative’, ‘Pain’ 3 2900 ‘Solace’ A ?

(\)osngéa
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Read the following sentences and answer the
questions (117 - 120) below :

The following diagram shows the growth of height
in centimeters of bean plants with application of
fertilizer after a month. Observe the diagram and
answer the questions.

Growth of Height in cm of bean plants with
fertilizer application for a month

25
20
15
10
1hanl
0 Bio-Fertilizer ~ DAP Super Urea  No Fertilizer
Phosphate
117. Could it be safely concluded that for the

growth of the bean plant, application of
fertilizer is always beneficial ?

(D
(2)
(3)
(4)

Yes
No
Maybe

Data is insufficient

118. What is the percentage of increase in growth

of the bean plant with the application of
bio-fertilizer compared to the plant with no

fertilizer application ?
(D
(2)
(3)
(4)

25%
50%
60%
75%

(37)

(808 anE;0eid WA, arel Sots €%, (DO
(117 - 120) 2a220e0 (HY0S0A:

$00 RDEIGR B WG, 2w DV DL
TAD BSOS DL AHo  dHS
AADAVN  ACPD0R. B AGHDVD

20390D), VB VL BT°LV (DYotSol.

28 D QBIHeD T°EN SBoT°S D) I ©
28S° d8orHB (W08 Werses®)

25
20

21
17

15 . 5

10 - I [

; |

0

BH DY A wrHsS  ahrbair D )

5“:035 FHore
117. ri)é.)zjcfo DY), AADLEVD, APV
TPEEHD DT® oa;)wcmsm 290
0B i)foboéwmom 908 ébaﬁa ?
1) )
(2) B
(3)  0Q0ciIBN

4)  RXAPEPEHD WoRFT™ Sk
118. 25 DY TAD DL g &S’
DL, D DY TED DY), Sol

0o TS0 L) D €08 ?
1 25%
(2) 50%
(3) 60%

4)  75%
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119.

120.

Could the growth of the bean plant be the
highest if Urea and Super phosphate are

applied together ?

(1)  Yes
(2) No
(3) Maybe

(4) Data is insufficient

Could a conclusion be safely drawn that
certain types of fertilizers may not be suitable

for bean plants ?

(1) Yes
(2) No
(3) Maybe

(4) Data is insufficient

(38)

119. Q30003® VB DIHE i_SﬁfobeS &9

DOIGB, AN dwE), g,
NIaVlgblald) e.oagveiﬁsa"l Dsoz;sbn"
&otote ?
1) )
(2) B

(3)  ©0VPDOCEIBN

(4)  RAPT G0 DoRFOM Sk

120. ri’)s.)zjcfo ISIWOIIEY §°§)‘l 55°0 QBN

BDEDD PPN POY)

2}

&’);()yé@é»tﬂ

RE DTN ?

1) @D

@2 s

(3)  ©0QOCIBN

(4)  RBTCEHD VORPOT™ S
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121. Which of the following was mostly used to|191,
facilitate long distance communication by the

inhabitants of Harappan Civilization ?
(1) Writing on palm leaves
(2) Stone and rock tablets
(3) Pigeons and parrots
(4) Seals and sealings
122. The earliest inscriptions found in India were | 122.
written in
(1) Sanskrit in Brahmi script
(2)  Prakrit in Brahmi script
(3) Tamil in Kharosthi script
(4) Pali in Kharosthi script
123.
123. Match the following travellers with their
countries of origin :
A. Al-Biruni I. Afghanistan
B. Ibn Battuta II. Turkey
C. Mahmud Wali Balkhi III. Morocco
D. Seydi Ali Reis IV. Uzbekistan
A B C D
1 Iv III I II
(2) III v II I
3 III v I II
4 IV II I 11
124. Which system of transport was often used by 124.

the Delhi Sultanate to transport fruits of
Khorasan to India ?

(1)
(2)
3
(4)

Foot — post system
Horse — post system
Camel caravan

Transport by pilgrims

300" DB TOTFy TIOES TRV
St te! FPoTPOL RATPET G0
REDOTAS DED) DT &0PNONDD ?
(1)
(2)
(3)
4)

T°F DTOL TG

oD DD

DT B0 Ve
AVQED SBA3D Sgien

2GS 5° ODODD A LT HD FPOTLD
D &0’ groerd & o ?

(1) grar), ODE P Do) ,Boes’

@) grar) ODE &rdd FEdoeS”

(3)  2BR IS &rdd s’

@) PTYR O &rdd 0’

206 FDYO AIrGHV O STOS
2 BDooS :

A. 0S5-867 L eI
B. 9ed) et L &8,
C. 205 3P e 1L 2o
D. DAk @ 6% IV. &@yS
A B C D
@ v I I I
2 m IV I I
3 m IV I II
@ IV I I 11
FoorS  od  Dogd  EE DO

BROHTHEIS &Y oerdy O ST
éé&bé)éo GO &D3PAodTCE ?

(1) FOTDO S S5

(2) (hgre Sarer SIS

(3) 2,080 SPET°D

4)  BgasrgDe T
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125. Which of the following Sufi saints was known | 195,
as Garib Nawaz ?
(1) Sheikh Nizamuddin Auliya
(2) Khwaja Moinuddin Chisti
(3) Hazrat Nasiruddin Chirag-i-Delhi
(4) Khwaja Qutbuddin Bakhtiyar Kaki
126.
126. What was the practice adopted by the
Vijayanagar Kings to protect the inhabitants
within a fortified area from starvation due to
sieges by enemy armies ?
(1) Large granaries were built within the
fortified area to store grains
(2) Secret pathways were maintained to
transport groceries into fortified areas
(3) Large agricultural tracts were
incorporated within the fortified area
(4) The forts were built on hills to prevent
siege by the enemy
127. Arrange the names of the following freedom 127

fighters in ascending order of the period of the
rebellion by them :

I. Vasudev Balwant Phadke
II. Khudiram Bose
II1.

Alluri Sitarama Raju

IV. Kanhu Murmu

(1) LILIIL IV
(2) IIL IV, 1,11
(3) ILIV,IILI

4 IV,LIIIII

305 DEYDY AP DPROGT AH0D
(3685 drd VDT ?

Fots) 3@&»@5 €950

PGS SVANVQR DY

as éf’ocb@% Joeh-2-E9

o soeéoeoogS $803r6 8

(D
(2)
3)
(4)

3G VDO Jod DY s Haen
e8535G0 T QEINOD DELT® BP0
DROPINAGE T @D &EIewn
BRVLHDTED ?

1 e DG TRTT VKD

Db&ou‘smd)

ereS°s 5 BEDV0BIL
dz:rz()zg brng QU"QQJJ
WRVEIDTRD

E0E5°00 arioes” L) D Dydoes”
bzgsﬁa"oﬁo D08 Z3IPH0eD €08
Dedore Dovbé.w BT

380 B0QCGousor ELvsd
Sotop s

(2)
3)

4)

SHARIESY 5‘*5&0@5 RAEABI O
T°0 JPD SPerOLd oMo e e
[_5530@56 336‘50& :

. OPRRD eoe)soé :_Jc‘izj

II. AT e5°H

I erd DT T°&D T
IV. 8 :Q).)d)é
o)°
(1) L, IL IIL, IV
(2) IILIV,I II
3 ILIV,IIOI

4 Iv,LIII II
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128.

129.

130.

Having failed to control the Paharias, the
British invited the following to cultivate the
land in the Rajmahal Hills :

(1) Santhals

Zamindars

(2)

(3)  British planters

(4) Kols

Which of the following is one of the reasons for
Mahatma Gandhi to use salt as a symbol of
protest ?

(D

Salt was easy to make

Dandi sea shore which was full of salt

(2)

was nearer to his Ashram

3

Salt was not given due importance by
the British

(4) The government was depriving Indians
of even nature made salt by wanton

destruction of salt

What is the title of the book published in 1958
containing the edited collection of letters
written to and by Pandit Jawaharlal Nehru ?

(1)  Critical thoughts and reflections

(2) A bunch of old letters
I and Mahatma — A collection of letters

3

(4) In the eyes of the World

(41)

128.

129.

130.

DIPE 3TN OB 0eS°
JPOD  PBa T¥0y TBE oS
Eoctgd® D500 BROLIWIH IHOD
eﬁbﬁsaow’do ?

(1)  Hozedd e

@2  2Domed e

3) DOD SeaHadardoen

4 S en

BoOTIS” DO DFEE), ol D0
QBRI 303V oTP rf)‘c'o.)é.)éi
oSS’ 2u8ed ?

(1) &dpy Sa3rd SBobeio R0

(2) &Ry JE) I &0l 30& Do

23030 e83:57°8 BHGTT €00

(3) €)Y QBQ TPy BN FTeRYS

'abse'j’c:’n

4)  QBA TR &Ry DEIVXD BYoR0
WoRCo HY PROLD PO
‘?ogajwrv Do N~

S65Don0d

200T°IS” DB, 19586°  HIOBRD

VoGS 2070 S T TR,

0B oI TroDedd T

Dogwdo ?

(1) SBSS 5edy woli BPEY

(2) o 0D D &S Serdy

(3) & ok Q0T ~ @ STES 8D
6&35‘3

4) QW ODI3O O bdeé
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131.

132.

133.

134.

Which of the following is one of the salient
features of the Lucknow Pact, 1916 ?

(1)

The Congress and Muslim League would
share power in Legislative Councils

(2) The Congress accepted the system of

separate electorates based on religion

3

The Congress and Muslim League would
fight for complete independence

4)

A working committee was established by
the Congress to run day to day affairs

Which of the following evidences support the
Big Bang Theory on the origin of the
Universe ?

(D
(2)
3
(4)

Expansion of the Universe
Rotation of planets
Explosion of stars even today

Maintenance of steady state by the
Universe

Which of the following is a direct source of
information about the interior of the Earth ?

(1)
(2)
3
(4)

Study of seismic activity
Gravity anomaly
Surface rock from mining areas

Magnetic surveys

boulder
depositional land forms due to

(1)
(2)
3
(4)

Till, moraine and clay are

surface water activity
underground water activity
aerial activity

glacial activity

(42)

131.

132.

133.

134.

300" D6 ©F) WDy, 1916
GB0E), 0P WOTVS’ 2088 ?

(1) TRHAD SIS 0 52030, JPo
OB e OG0 $0WE L

sPoge oo esgedorn & &

QO3 s DT DDV
2908800 '

R03Y F(Bogdo %0 50089 ,
Bo0Do 9f en Dforero Sascto

B 5°0 seser O

FPAoBGRIL SPoF0 8),06 &8
DU"D&D

(2)

6))

4)

2odTDS’ Do Jorerdy  0oDD

036 :)ttsﬁbem Doy 200003
3 Q Q

e35°G0 DO ?

(1)

(2)

(3)

DB DY
(35550 gId0easd0

QWO EPE dLTren Z.)Sffbeoéo
Woldo

@) DI VESY 3%5° &0
()

20BTIS” & HrD STHO  Foo
(000  PB(EIVT  DATEdo BN
e353°50 / QDedI°Ead0 ?

(1) o800 éd5o esc_szgo:béo

(2) mdowssgsa 655&’3505.)8330 (anomaly)
(3) (R0 &DdBL TR,

(4) eaorbb"boé 03¢

S, VB e Bt 83"&@)5 m@
DE e Qer Dcﬁbaww

(1) &080 DS B6[0 HOD

(2) e_nyﬁda 2°0) :ﬁdlge) DV

(3) ess°% adzge) PV

(@) AT JHTV BER DD
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135. Out of the below, identify the process which is | 135.

not part of the hydrological cycle.

(1) Evaporation

(2)  Precipitation

(3) Hydration

(4) Condensation
136. Which is the largest tributary of the Godavari 136

in terms of coverage of drainage area ? )

(1) Sabari

(2) Pranhita

(3) Indravati

(4) Manjira

137.

137. As per reliable estimates, which of the

following locations in India has the largest

shale gas reserves compared to others ?

(1) Cambay Basin

(2) Krishna-Godavari Basin

(3) Cauvery Basin

(4) Ganga-Brahmaputra Basin

138.

138. Under the Hydrocarbon Exploration Licensing

Policy (HELP), the revenue to the Government

of India accrues through
(1) lease rent
(2)

3

biddable revenue sharing contract
production sharing contract

(4)

fixed percentage of price realized

oBarDeS 2020808 Sy0eS”
(Eorass p8S) ardo 520 HIOH
6.
(1)
(2)

e300 sPdcio

e2¢3060 (20DEINS)
e, 85680 (&)
QDoEN0 (506?536’.15)

6))
4)

DOTIPE Fodd Dybo VS0 Hedd
EDVSVS” B DGO ?

(1) 320

(2)  Peard

(3) QoI

(4) Qoodoe

Z)%Sabod) OB DTG0, ES &S
3ocs DEYD) D ETS 1S ™R
DEFen Qriee PETO ST L) I
&) o ?

(1) S°083 &5

@) E-Fordd B2

(3) BP0 82

(4)  (orP-g)T7) LG B

TESCD 03 JIDy  IoEdo
(HELP) 808 2768 0aoor(d$ esm@oio
A Ao DA ?
& o3

Q

DVO0DORBAY (biddable) eSTPOIY
DODEY aé;bodsan

(D
(2)

3)
(4)

SSYB DoDERY 2wdyocdo
DoDD 55eS° DG Fdo
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139.

140.

141.

142.

In which of the following places of Andhra
Pradesh are Karst topography features seen ?

(D
(2)
3
4)

Bojjannakonda Caves
Undavalli Caves
Belum Caves

Erravaram Caves

Which of the following could be the most
important factor in decline of slate industry in
Markapur ?

(D
(2)
3
4)

Non availability of slate in the mines
Non availability of labour for quarrying
Government policies restricting mining

Change in user preferences

In which part of Andhra Pradesh are a major

portion of Uranimum reserves located ?
(1)
(2)
(3)
(4)

Kadapa Basin
Nellore Basin

Krishna Basin

Gooty Basin

Which of the following is not a criterion for
acquiring citizenship of India, subject to other

conditions ?
(1) Naturalization
(2) Birth
(3)

4)

Registration

Ethnic Identity

(44)

139.

140.

141.

142.

@0 BB &' g0t VB Fozrods
s*’SQ (Karst) [OrE8 oLred I8¢
&JDIrow ?

1) &) Fod (bren

() GotdY hHiren

(3) &3 (3P

@) dGSG0 (Een

goss DB 0TS & o) rd &S
DOgL VOFH  2Bodedd Joay
S°Gge0 7

(108" Do FYd¢o

(200 $3¢5AS &rden
ODoIED Do

oo ejéssvfbtl DOSHo B
@e;oeés QTP

DB HTEE fagm»g"oef
o‘.‘U"Ci)‘D

(1)
(2)

(3)

4)

2308 DA% S°D D JohoeS® aEBAoR0
Dosw 9 Zorr &%) Q0 ?

(1) 8D 80
(2) Db B
(3) Sk SIS
@ DSBS

66 & o) ToserdS, ws
erogded S°d, $08TIS° HYosdd
A ?

DL LS

DS

S0 B S0

28 DED (1005

(D
(2)
3)
4)
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143. The Constituent Assembly was composed |143.

roughly on the lines suggested by

(1) Mountbatten

(2)  Cripps Mission

(3) Cabinet Mission

(4) India Independence Act

144.

144.

145.

146.

Which of the following may be a violation of
fundamental rights ?

(D
(2)
3
4)

Banning of a book
Not paying minimum wages
Prohibition of secessionist activities

Not allowing loudspeakers in a religious
procession

In which election in India was VVPAT used
for the first time on experimental basis ?

(1) By poll in Nagaland, 2013
(2) Lok Sabha Elections, 2014
(3)
(4)

Assembly Elections, Goa, 2017
By poll in Madhya Pradesh, 2017

Which of the following is a “pocket veto” power
in the Indian context ?

(1) Speaker of Lok Sabha not allowing

presentation of a bill

(2) President keeping a bill pending with
him, without any time limit and without

approving

3

Prime Minister removing ministers from
his Cabinet without any reason

(4)

Rajya Sabha vetoing the provisions of a
bill approved by Lok Sabha

145.

146.

o*’as°5o($ 033 srcbb GAlPE D50
ROV JGaNS” ErTodomedd ?

(1) &30S e

(2) 553'3 AN

(3) DI AR

(4) 0 Q‘Beﬁoé r:éeoo

0675 DO WS
YOV ST ?

1) 28 ZQ)«“_QS"X)Q’ Daadotdcio
(2) S DBV BocssNdcio
(3)  DTENTE SE[EPI O
QaadoBd¢o

SOSDERD EBN0DS” T°E D86 e
QaBoTIC0

:rs%e)

(4)

65 S D ALY Do
QAP & zage‘.'aeS" VVPAT D
&OAHoTE ?

(1) 2013 Trerols & &0 §&5°

(2) 2014 &°8 225 DIy &&°

3) 2017 Fo> @920 I &¢°

(4) 2017 D0cS5 VBT S°D &V &

eS8 FTAE Doeodod) ‘a5 D’

OG0 S00TDS’ V& ?

(1) 28 DY PIFDYID Lo S°8
225 .obsé escio%sécio

3P0 DO efsoom ovqoe‘.’a 28
DLV eI QOILOT® éébcﬁ:ﬁb
GoSoS o

Q) S°6£90 FE0TE NEPD V0B B
5P Ao VoLV
Sohotdcio

S°8 02 IATOODD DS’
290T°VND U°ae,5foe;$ QUeEB0I¢ 0

(2)

3

(4)
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147.

148.

149.

150.

The mission of the Government of India for
electronic delivery of all Government services
is known as

(D
(2)
3
4)

e-Biz
e-Cloud
e-Kranti

e-Jagati

The one stop e-market place established by
the Government of India for procurement of
by
organizations and PSUs is named as

(D
(2)
3
4)

goods and  services government

e-Procure
e-Biz
GeM

GeP

As per the data available in the National
Judicial Data Grid in April, 2017, what is the
approximate percentage of cases in Indian
Courts pending for more than two years ?

(1) 45%
(2)
3)
(4)

55%
65%
75%

In which of the following issues did the
Supreme Court invoke Article 142 of the
Constitution to issue directions in a judgment
in a case in 2016 ?

(1)

Constitutional validity of Defamation
Act

(2) Regulatory mechanism for legal

profession

(3) Right of disabled people to live with
dignity
4)

Ban on licenses to liquor shops near
State and National Highways

(46)

147.

148.

149.

150.

©d) VIS DDV ATFIS PGS
oO°  @0LoIEEIS e 1Y) FefAV NG
oweoo WD ND?

1) DB

2 2-g&

(3) Q5o

4) Q-203

DIVSY VoPed BBAL VIS oS
DdoPen  BD SPHVVD DD
00050 DL Fofen Bobeedd
OB DIB0 JTNENBDD R-35°0),85
DD A ?

(1) @-Tergd

2 @B

(3) & (GeM)

(4) & (GeP)

OO YO DITTS A& &S°
DS, 2017 ' DIAFTGAD  DS°Go
2O msomfg*’moé"’ Coli¥ySots
QO Dodoh &S &) Fww o

AT doeh ?

1)  45%

(2) 55%

(3) 65%

4) 75%

2016 ¢&° 208 oS D Do
%0200 &20e5° SO &
sozgcmgvam oerfotio & @OEdt0
142 OS°Go e3B3F°0 O3Vl ?

(D DEODIP0 B Toa§ors
WRVETED

OB 08 2 DoBdoges OF0R
BTforben FEOHGTT Dot
:yggzj

TR, A0 SPEEiR DED
S0C[0 CUSPEPVL TRy QO BE